
A
A (1:3)

M12 BOLT

M12 SPRING
WASHER

M12 FLAT
WASHER

M10 BOLTS

M8 BOLT

M10 NUTS

M10 SPRING
WASHERS

M10 FLAT WASHERS

BACK VIEW

FRONT VIEW

M8 FLAT WASHERM8 SPRING WASHER
M8 NUT

FJ-WINCH

www.bison-gear.com



BOLTS

QTY Size Description Torque [Nm] /
[lbf ft]

2 M12x40 Frame mount 137 / 101
4 M10x50 79 / 58
2 M8x30 27 / 20

WASHERS
QTY Size WASHER TYPE

2 M12 FLAT
2 M12 SPRING
4 M10 FLAT
4 M10 SPRING
2 M8 FLAT
2 M8 SPRING

NUTS
QTY Size TYPE

4 M10 HEX
2 M8 HEX


	Sheets and Views
	Sheet1
	Sheet2


